
07/06-01 - AP

1

Istruzioni d’uso
Gebrauchanweisungen
Notice d’emploi
Instruction sheet
Instrucciones de uso
Gebruiksaanwijzing
Istruçoes para o uso
Odhgìez Xrçshz

934...
936...
938...PART. E6944B



20
0

20
0

20
0

50

15
0

30
0

50
50

50
50

10
0

100

0

50

1/4

2



B

A

10

C

93400PP
93600PP
93800PP

21

3

x 8

x 2

x 2

x 2

x 2

4

3



x 4
M6 x 35 x 4x 4

M6 x 16

93000AFP

A

B

M6 x 35

A

B
M6 x 16

x 4
M6 x 35 x 4x 4

M6 x 16

93000AFP

6

5



A

B

x 4x 2 x 2 x 4x 4

x 2

1

2

7

8

x 4x 2 x 2 x 4x 4

93410Z
93610Z
93810Z

CLAC



�

�

���

�

�

�

9

1

2

x 8 x 2 x 2 x 6

93050B   93060B   93070B
93080B   93090B   93090B/10

A B C

G

D E F

A = 415 A = 665

D = 560

G = 710

D = 810

G = 960G = 1170

D = 560

E = 100

F = 360

A = 415

B = 245

C = 215

600
400

600 850

B

C

93000FM

x 4 x 4x 4

A

10



100

100

B
A

B

A

IP 30

x 2

x 3 / x 4

x 3 / x 4 x 3 / x 4

93050B   93060B   93070B
93080B   93090B   93090B/10

1/4

IP 30 x 4x 4 / x 6x 4 / x 6

11

12



I

J

K

G

H

93860S

1000

1200

E
F

D

A
B C

IP 40

x 2x 2 / x 3 x 2 / x 3

x 2 / x 3

x 2 / x 3

x 2 / x 3

13


